FO=AIL
=%
>P.325

CEEDICEEDEIEEY

SF

TFH YT EAh) /T 7 2—F vy LT (AN)

THyhLERM
(STHvbLEM>

FIV=HEER

775 —F LM
(S77%5—FvbLFE
14.5

9.8 WERATEETL— L
| — SF40-452/U—X (G&1R10mm) 3\ TISEIG

T

< 7 W BT —5
THyRLERH STHuhLF#H
i) FIS—FUNRE  STIFS—FyNLRM
THNER 1=(800) TrybLRH £=450 T-PNE 180 TH-PRH 1=460 il SUS308
(STrohLEH 2=(2800)) (STryMEH 2=450) (§775-roNEH 1=(0800))  (ST79-FuhLE# 0=450) @8 905e/m (TFukl) 9408/m (STHRL)
1~9% | 2525880 647¢980) 1~9% | 2525(80) 647¢980) iy e S
i{g 10~49% | 2399(567) B15¢31) %Lﬂ;ﬁ 10~49% [ 2399(s587) 615¢3D) e T TI=RIN) ST T
BOALLE | 227362 5832 SOALLE | 227362 583(es2) R RoHsuia
AT Lo, SFX-101¢sFx-003)  SFX-121¢SFx-s01) 7745 LNo. SFX-102¢sFx-008)  SFX-122(SFX-808) PR REALIE T HRIET, 2 RS EE,

CEEDICEEDRGES

Tvhk~—24080

7y hN—2X

TyhN—24080(M12)

78 8
19.20.20 19
19 40 19 M12
e
ol + zanYanVar) o 3’[ o 2-14%)
& NW/ANPANP) & 208 7
N ’&\ - N 125
39 —
2-14% 1), 208 Y125 M16
t=16 t=16

RiE RoHSWILG
WEERTEETL—L ——
SF2-40-80(75vo28)
SF-40-80 (1F/J5v020)

(HE) SF-K-40-80

[79hA=24080 55400 12704y *ILE AARAFIH (M12X25) 265G ERI274g]

[7/M-24080(27>) | SUS304 AERHHIS (M12X25) 7R 2446 BR2T6g |

WERATTRETL—L ——
SF2-40-80(75vo28)
SF-40-80 (1F/J5v0320)
(HE)
[79h=24080 55400 12704y %ML AERAFIS (M12X25) 250 ERI274g]
[M-R0BIN12) (372) | SUS304_AERAHIS (M12X25) 7R 2446 BR2T6g |

it NEW)
TybR—=24080(7vh~"—24080 (2FV)> TyhN—=24080(M12) (7yhs—24080M12(Z7))
1~9th 684 (1,048) 684(1,048)
iﬁ)ﬁ 10~49Esh 6501296) 650(996)
50tyhLE 616944y 616(944)
745 LiNo. SFK-57A(SFK-57AS) SFK-57C(SFK-57CS)
TykR—24590 TvhR—250100 Twh~R—28080
79 SF4045
5 195 40 19.5 LY X
20.5 45 20.5 24 50 M1624 i M20
M16 S lo-| 2
< — ~
< 8§ A AR o r( 214%) v Q s ‘( i
NN W kg\ 2-14%1), s W 20F1 7Y ~ N o
= 208Y 7Y 125 2 x| B 4%
43 | 43 N Z125 48 @ 9 = 4RSTY
395 | 395 #8.5
t=16
245,90 I
- N ovo= Lt —_ Bt —_
SF-45-90(1F/F5vr2t) .fiﬁﬂﬁ_[557U.7A o lfiFﬁEJanle/ L‘__ —
JT SFK-45-90 (+HE) SF2-50-100(F5vo&8) (D SF-80-80 (F/eFH J5v750)
[7hN=245% [ S3400 1704y %0 AARHANL M12X25) 2K HRATIg]  [7/MA-260100 [ SS400 REB=sF s bR AARIFFINMI2x25) 2480 Kik/54% | [7sh-28080 [ 55400 1=904s% 1138 ABRFIHIH (MBX25) 45 EE Eifl62sg |

[7AR=24590 (27 ) | SUS304_AARHANE (M2X25) 7oL 2K5E BRATAG | | 79M-A60100(A7>) | SUSaM ABRHFIN(N12¢25) 245 B/551g [7M=28080(37>) | SUS304_ARRHHLE (MBX25) A7 L2 444G Hibesly |

fifik%
TwhR—=24590(T7yhR—24590 (ZF) ) TyR=250100(7vh—250100(27)) 7ybhR—=28080(7vh~—28080 (ZF7)>
1~ 784(1,284) 890(1,870) 1,384 (1,954
%ﬂ 10~49tsh 745(1,220) 8461,777) 1,315(1,857)
50tyMUE 706¢1,156) 801(1,683) 1,246(1,759)
747 LNo. SFK-B0A (SFK-80AS) SFK-80A (SFK-BOAS) SFK-59A ( SFK-59AS)

7YY

T YM—ZR)F DB ETL—LOWEICZy TMIFLEELYET, P.320~321 DITIEEESHBZE,

[ ] [E@i&‘/?h ] [ ] [ ] PR

REE-EX
->P.788

HEIZEY—ER

/@S >P.16

£~

fAIEY—ER
>P.A7

197

== »>P.16




(15

7IMNN—X

STANDARD FRAME

SF40°45 8 10ms <7

CEEDICEEBRSEY

10mm

@ - ~M5 ~M6 ~M8
B <> W

TykR—28080(M16) Tyvhk~R—29090 TyhR—2Z100100
o 88 %
195 40 195 21.5 45 21.5 4 50 o4
o . S
g ] @ 3
m{} 5 & Q| 9| oo © | un
AT @\ 4.9%1 @ ® @\ Q| 0%y | @ @ 414%)
295 %65 | Zos o | o \F125
=16 P =16 P =16 P
WL — L\—”_/% W 7u—A—/% WERTHEIL—L —%
SF-8080(1F/2F/H/F5v088) (i) SF-90-90 (H/I5v o5 E) P SF2-100-100-28

[7sh~=28080

[ 53400 1=70Ay U ABRHAL (MeX25) 4548 Hibi625g |

[7shA-29080

[ 55400 12704y *IUE ABRHHIL MBX25) 4550 ERB61 |

[7M=2100100 | SS400 B L Av4HR RARFHIN M12x25) 44 8T /12605 |

[ ZoM=20080(M16) (R7) | SUS304 AARHAIL (MBX25) R7L A 4%5T EB6Slg |

[7ohn=29000(37>) | SUS304_ ABRFAIH MBX25) A7LA 455C ERIB6Y |

[F9M=R100100(27 )| SUS304 ABREFIN(M12¢25) 435 ER/12708

& INEW)
T 79h~—28080(M16) (79h~—28080M16(Z7)) Tyh~R—2Z9090 (7yk~x—29090 (ZF2) > 7yhA—2100100(79r—2100100(2F)
1~9th 1,384(1,954) 1,444 (2,490) 1,790¢3,040)
i‘? 10~49Eh 1,315(1,857) 1,372(2,366) 1,701(2,888)
50fsMAE 1,246(1,759) 1,300¢2,241) 1,611(2,736)
747 LNo. SFK-59C(SFK-59CS) SFK-54A (SFK-54AS) SFK-81A(SFK-81AS)
JykR—280160 7vh~N—2980180
176
160 20.5 135 205
20 120 20
el w0
~ D © “,\’ & @ @ | ¢
o < O ; i &
re} @) @ 2 © A w
NER A & & N ~
o
80 | 80 88 88
M20 4-9%Y M20
1445 49%Y 14RYYY BB6 \
7R8.6
t=16 t=16
WEREEE L — L — // WEAAEETL—L4 —é
SF-80-160 "'~ SF-90-180
(%) (#H)
[79hN=260160 | $S400 1=70AyHILE ABRHHI (MBX25) 4450 ERI4Tg | [7/MA-200180 [ 8400 2=7mx,*iL8 ARRHANS (MBX30)4AEE Hll/189%g |
[79hA=260160 (27>)] SUS304 ARRFAILH MBX25) AT 2 A5t R4S | [7=290180 (27| SUS304_AARHFIN (MBXA0) R7LA 45 ERNOI8g |
i ]
i TyhR—=280160(F7yhx—280160 (7)) TyhNR—=290180(7vhx—290180(Z7V))
1~9h 1,499¢(3,890) 1,589(4,729)
i‘? 10~49%h 1,425(3,696) 1,510¢4,493)
50mhLE 1,350¢3,501) 1,431¢4,257)
745 LiNo. SFK-72A(SFK-72AS) SFK-73A ( SFA-73AS)
Tvhk~R—2408080 TvhR—2459090
37 45
wn
2 A | 2Mie § <> 2M16
ol 8| %1 ol 81 A&
~Ng ®| AU
LA | @ S DDA, | =
w0 DO | 3 0 O | ¥
g | ° gl |
18.5/20 | 20 [16.5 22.522.5]22.5/22.5
75 90
3-14% U 20FH¥ T U F125 3-14% 1) 20FH¥7 U F125
t=16 = t=16 =
WERTREIL—L— % WERTREIL—L — /%
D SF-40-80-80 : P SF-45-90-90 :
[7M-2408080 [ SSAO0 174y IR ARRFHIL (M12X25) 3850 ER83g | [7PN-245090 | SS400 270/ %i08 AARHANS (M12X25) 3846 HiREdlg |
[79hn=2408080 (A7)] SUS304 AARFALS (Mi2X25) 7oL A 3K55 EBBSTy | [79M-2489090 (37 SUS304_AARAALS Mi2X25) 270V R 345G ERIsdeg |
it
7vbh~R—2408080 (7yh—2408080 (ZFY) TybhR—=2459090 (7yh—2459090 (ZF7) )
1~9tyh 1,454(1,534) 1,510(1,590)
i‘? 10~49th 1,382(1,458) 1435(1511)
50heLE 1,309¢1,381) 1,359¢1.431)
747 LsNo. SFK-B5A (SFK-65AS) SFK-BBA (SFK-66AS)

T YMNR—=ZBUFI DIBAETL—LDREICZy T IH BEELNET, P.320~322 DN LiLE %S EW,

198

A=|| BEREXTTE
EXH]) TArANomEH  %E

SFK-72A [ &



	SFK-57A.pdf
	SFK-57A-2



